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Answer LIGII'[ questions only. Question ONE carries 16 marks but  this is not
compulsory. Al other questions carry 12 marks each.

Marks
1. aﬁé%ﬁawﬁﬁqﬁﬁﬁﬁwwwaaﬁwﬁﬁwaﬁi@ 16
-W%Ghmﬁﬁ(ai”wam%mﬁamﬁmw%maﬁ
S |

1. “No two countries have exactly the same resources, nor indeed is anyone 16
country self-sufficient.” In the light of this statement explain the basis of
international trade.

2. mﬁmmaﬁmmm@%wﬂaﬁmmwm 1
TEM e ?

2. - What are the major currents of the Atlantic Ocean and what eﬂect do they 12
- have on shipping?
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3. a) How are tides caused? | : 6 cach

b) India has a coastline of nearly 6,000 Km., yet it does not have many
ports. What are the reasons? .
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What are the causes of earthquakes and volcanic eruptions? | 12
What are the locations most prone to these natural catastrophes"
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Give geographical reasons for the following :

a) Port of Gibraltor has strategic importance.

b) The moon has over twice the tidal effect of the sun even though the
sun i1s much bigger than the moon.

¢) Those crossing the International Date Line have to change the date
forward if they are crossing from West to East and backwards if they
are crossing from East to West.
Panama Canal has an important place i in Amer;ca s trade.
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a) Whatisa Bill of Lading and what are its functions ? | 6 each
b) Explain what is meant by "discounting a Bill of Exchange".
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"There are two kmds of ports in India - major and mmor" What factors
distinguish a major port from a minor port ? Name all the major and any
five minor ports of India.
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"Multimodal transport is the carriage of goods from the premises of the
consignor to thase of the consignee, by more than one mode of transport

and under a single contract, evidenced by a single transport document."
Explain this statement.
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“The inclination of the earth’s axis and 1ts motion round the sun cause

, change of seasons.” Explain this statement.
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Write short notes on the following :
a) Arbitration Act 1940

'b) . Free on Board terms of sale

¢) Demise charter.
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